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MPM IDI Exponents Laws Worksheet

1. Evaluate: ( No calculators ! )

92 vl olf 9100 910 pldf g)(gjz

o8 o0& @) o o =

2, Eval

with your calculator: (2 deci

b) (42

3. Write these numbers as a power:
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4. Simplify:  (No calculators and do not evaluate ! )
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5. Simplify:  ( No calculators and do not evaluate ! )
23 7 12 11
a) x2.x?  p)atsat ¢ l;— d) (b‘) e ct.cTec? pix '5"
y X
6. Simplify:  ( No calculators and do not evaluate ! )
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7. Evaluate: ( Find the exact answer ! )
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2. Simplify: ( Leave answers as positive exponents !! ) =<
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3. Simplify then evaluate: Answers For 8
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MPM IDI  Exponents With Variables
1. Simplify:
a) 3a’x5d b) 2m* x9m® ©) 4x*.9x° d) 6y’(—3y7) €) 3xx12x" f) 4’510 2r
2. Simplify:
20d° 364 -422°
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3; Simplify: ”
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4. Simplify: (All answers should have positive exponents!) ( Watch Your integers !!)
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b) ~am x{-3m2) 0 4567 2 5553677

5. Simplify: ( Write
a) 7x7 b) -6y’

ers as positive exp
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